
SECTION 5-5: SUBSTITUTION (DAY 2)

1. Compute

Z
sec2(x)

tan(x)
dx

2. Compute

Z
sec2(x) tan(x) dx

3. Compute
R sin(✓)

1+cos(✓)d✓
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=Sse+In××dI=fdfe= lnlultc

Letwtanx =1n|tan×HC
dutseixdx

let u=+an×

=S#n×)GeExd×)=fudu

du=sec2×dx
=£u2+C

= 'z(tanx)2tC

t.SE#agtE=faut=fE6tu=1twsOdu=-smod0
= - 1n|Hwso/tC

- du= sihodo



4. Compute

Z
1

x ln(x)
dx

5. Compute

Z
sin(4/x)

x2
dx

6. Compute

Z
ex

ex � 3
dx
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u.ua#=S*tf@=ftuau=inw+cdu=fx@=ln/lnx/tc

ie+uf@=SsM±±D
.ly#=f(sinu)ftydDdu=-4x2dxqfsinudu
- ÷
,du£d§

= tywsutc
=tyws(4xDtc

Hafez=SeEiXeID=f'uau= lnlultcdu=f×d¥
=lnKH+C



7. Compute

Z
1

9 + x2
dx

8. Compute

Z p
x(x4 + x) dx

9. Compute

Z
cos(x) sin(sin(x)) dx
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w

u@q=÷fte÷gd×0=ff+uLGdu
)

du=tzdx =
tzf.dk#=lzarctanu+C3duyd@

= }arctan(F) + C

=S(x%tx%)dx=,}x¥+}x¥c

Lethe=S@G@nD(ws€)discos=fSm(a) du

= - cosutc

= - cos( sinxtc



10. Compute
d

dx
[x ln(x)� x]. Then compute

R
s2 ln(s3) ds

11. Compute

Z
x
p
x� 1 dx

12. Compute

Z 3

1

(ln(x))3

x
dx
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-

=S@cs3DXs¥)=gIxklnx@tnxtxInIinxTxLetuEs30yigSin.u
du=f( ulnu - a) + C

du=3s2dstzdugfds

z(s31n(s3)

. 5) + C

1etu=×@===fCutDu£du=f@%+u£)duu+l=Q =§u%+}u%tcduF@
=zg(×→5k+}( x-D "2+C

let u=|n×

=§"%du=¥u4]h3

du=t×d× =÷(@D4 'D
×=l ,u=0

= ¥34
×=3,u=lh3 4


